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Question No. 1

In which of the following cities is the longest beach in India located?
A) Mangalore B) Chennai

C) Mumbai D) Cochin

AR T WY ol §5 ac o & B e & foua #7

A) FHIAR B) deals
C) #qFes D) riteT
Answer Key : B Your Response : Not Answered

Question No. 2

If a person weighs 66 kg on the Earth, how much is his weight on the moon?
A) 55 kg B) 11kg

C) 132 kg D) 77 kg

Ife ey safda 1 9 g2t w66 fFam §, & o W 3He SR frde gemm?

A) 55 faarm B) 11 forarm
C) 132 fararm D) 77 TR
Answer Key : B Your Response : B (Correct)

Question No. 3

If P and Q together can do a job in 15 days, Q and R together can do it in 12 days and P and R
together can do the same in 20 days, then in how many days will the job be completed, if all the
three work together?

35CAtga247 B) 6 days Engineers Adda247
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C) 10 days D) 14 days

Ifg P Ak Q e frdlr &1 @ 15 R&t % g & @& §, Q 3R R et 38 &1 &1 12
&t & #¢ Td § 3R P 3R R Aaew 3 20 & & s Tod §, o I« Ree 330 13 &t
fFraa et F qr w47

A) 4 feoT B) 6 f&eT
C) 10 feeT D) 14 &=
Answer Key : C Your Response : C (Correct)

Question No. 4

What is the distance of the principal focus F from the pole P of the spherical mirror called?
A) Image distance (v) B) Focal length (f)

C) Object distance (u) D) Virtual distance

AT ZI0T % T P { {TT BIhA F T gl Fr AT gl S 872

A) wfafds & g (v) B) wrhE gl (f)
C) @& & gl (u) D) 3w gt
Answer Key : B Your Response : B (Correct)

Question No. 5

Complete the series.

SHG, RIF, QJE, PKD, (...)

A) NMC B) OLC
C) NLB D) OLE
Sofr &t qut Y1

SHG, RIF, QJE, PKD, (..)

SSC Adda247 Engineers Adda247
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C) NLB D) OLE

Answer Key : B Your Response : B (Correct)

Question No. 6

Burning of fossil fuels causes increased amounts of carbon dioxide in atmosphere and what is
the name of the harmful effect caused due to this?

A) Pollution effect B) Chemical effect

C) Greenhouse effect D) Carbon effect

SHARHA §U & STl W AICAIROT H FiaT SE3FAEs H AR # g §8 & N 595 FR0T gt
e Il RS W T AT A1 g2

A) SENUT FeTTa B) &A% 9Td
C) H=gr3d 9HIa D) el THTE
Answer Key : C Your Response : C (Correct)

Question No. 7
Who among the following scored the first-ever triple century in a test match?
A) Virender Sehwag B) Andy Sandham

C) Brian Lara D) Chris Gayle

T & ¥ fFEa [ e A9 ggel-aR fQgr ade R 91?

A) dReg GgamEr B) Tar @ee
C) S oRT D) fora e
Answer Key : B Your Response : C (Wrong)

Question No. 8

Find the ODD one out from the given options.

SSC Adda247 Engineers Adda247
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O] D)

<& O

T a1v Rwedt # & 3w F I
A) B)
a
0 D)
<& O
Answer Key : C Your Response : C (Correct)

Question No. 9

If tan(A + B) = 0, then-

A) B)
SSC Adda247 Engineers Adda247
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tanA+tanB=0 tan A =tan B

O] D)

2t311A+t311B:1 2tanA+tanBz
l1-tan Atan B l1+tan Atan B

gfe tan(A + B)=0, aI-

A) B)
tanA+tanB =0 tanA =tan B
C) D)
ZtallA-FtallB:l 2tanA+tanB
l1-tan Atan B l+tan Atan B
Answer Key : A Your Response : A (Correct)

Question No. 10

The length of a rectangle is halved, and its breadth is tripled. What is the percentage change in
its area?

A) 50% increase B) 50% decrease

C) 75% decrease D) 25% increase

W%7aa¢aﬁmsﬂtﬁgéaﬂmwwmm%l HRYIRGELS AR
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gfaed 9Rads AT s

A) 50% Sodr &I B) 50% ®edr gl
C) 75% ®edr gl D) 25% s&dT gl
Answer Key : A Your Response : C (Wrong)

Question No. 11

The longest bone in the body is the-

A) Femur B) Scapula
C) Spine D) Humerus
T dr FoA < g3 FleT A 72
A) STg &1 ggar B) @ I gsar
C) {g & ggar D) eifsert
Answer Key : A Your Response : Not Answered

Question No. 12

Who presided over the inaugural meeting of the Constituent Assembly of India?
A) Dr. B.R. Ambedkar B) Dr. Rajendra Prasad

C) Sachchidananda Sinha D) P. Upendra

AR S WiAeneT T fT TUH S5 I 3eFgerar fFaar A?

A) 3f. B.R. 3398 B) 3f. eig 9dIG
C) wfzucee fbwgr D) P. 34g
Answer Key : C Your Response : Not Answered

Question No. 13

In a certain code, 'LANDMINE' is written as 'PYRBQGRC'. How will ' HOMEMADE' be written in
that code?

A) LMOCOZID B) LMPCOYHC

SSC Adda247 Engineers Adda247
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If fer faffaa Fesmr & 'LANDMINE' % 'PYRBQGRC' fa@r arar @, af 3dr gesmar
'HOMEMADE' %I %@ for@r sireem?

A) LMOCOZID B) LMPCOYHC
C) LMPCPZID D) LMQCQYHC
Answer Key : D Your Response : D (Correct)

Question No. 14

Valence shell is the shell of every element.
A) First B) Middle
C) Penultimate D) Outermost
HAST Aer(Valence shell) & ded &1 FIer grar 2l
A) 9¥H B) ALY
C) aEgdHd & dgel D) drEeddaH
Answer Key : D Your Response : D (Correct)

Question No. 15

How many triangles are there in the given figure?

A) B)

§§C Adda247 P g Engineers Adda247
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19

& oré st 3 R gt 32

A B
) ) 15
24
C D
) ) 9
19
Answer Key : B Your Response : Not Answered

Question No. 16
If 'ELCSUM' is coded as '"MUSCLE', how will 'LATIPAC' be coded?
A) CONDUCE B) CONFESS

C) CAPRICE D) CAPITAL

I 'ELCSUM' #t 'MUSCLE' if3d T siar &, & 'LATIPAC' &t $& :\f3q far smeam?
A) CONDUCE B) CONFESS

C) CAPRICE D) CAPITAL

SSasaeaRey/’ D Your Response : Not Answrrgédeers Adda247
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Question No. 17

Which of these pairs of numbers CANNOT be the last two digits a, b in 21022ab, if it is divisible
by both 8 and 5?

A) a=2,b=0 B) a=0,b=0

C) a=8,b=0 D) a=4,b=5

Ife 21022ab #r 8 3R 5 At & T Brar sar &, o so97 & FaT W HEAw oA, dEA
21022ab & 3ifd# & 3% a, b 7T & Fha &2

A a=2,b=0 B) a=0,b

1
o

C)a=8,b 4, b

1l
1l
1l
1l
(63}

0 D) a

Answer Key : This Question is dropped and
. . . . Your Response : D
will not be consider during the evaluation

Question No. 18
Why should an electrician wear rubber gloves while repairing an electrical switch?
A) To avoid electric shock B) To handle the devices easily

C) To clean the switch D) To avoid slipping of materials

fegd Rag 6 AT A TAT FARIRGT F TR & GFe T Tgelel AqRT?

A) TSSTell & e & §da & fow B) 3UIUIN FI AT & g5l el & oI
C) Tag = 9 A & fau D) d@r&Ed & e & §91 & fau
Answer Key : A Your Response : A (Correct)

Question No. 19

Which of the following games is associated with Thomas Cup?
A) Football B) Badminton

C) Hockey D) Basketball

faf@a 7 @ Fi7 o @ 97T 7 & geftT §?
ASCHEITR247 B) dsf@ea Engineers Adda247
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C) glhr D) SrEFeaTe

Answer Key : B Your Response : Not Answered

Question No. 20

If x = 28 and XX = 2, then find the value of 'y'.
A) 1 B) o4

C) 264 D) 211

Iy x = 28 3 xX = 2, A 'y F AR AT PG

A) 1 B) o4
C) 64 D) 2™
Answer Key : D Your Response : Not Answered

Question No. 21

Find the ODD one out from the given options.

A) 25 B) 60
C) 30 D) 15
R e Reost 3 ¥ 3w P G|
A) 25 B) 60
C) 30 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 22

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some fools are intelligent.

23 Somerietiidren are intelligent. Engineers Adda247
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Conclusions:
|. Some fools are children.
Il. All children are intelligent.

A) Neither conclusion | nor Il follows B) Only conclusion | follows

C) Both conclusions | and Il follow D) Only conclusion Il follows

39 WA #, o FYel & g ) fAswd RQu aw §)| 3w sy (3f) Fr g S arfee v @ wed
39ged gl

1) 35 7@, IRA=

2) 35 Io, YA ¢

o

. $& 7@, T ¢l

II. Fsfr s, gigerT §

A) & @ fasehy | 3R &1 & 1| 3uged § B) &del faishy | 3uged §

C) gt sy | 3R Il 3ugerd & D) &aer sy || 39ged §
Answer Key : A Your Response : Not Answered

Question No. 23

An article is marked 20% above the cost price and sold at a discount of 20%. What is the net
result of this sale?

A) 10% gain B) No profit or loss

SSC Adda247 Engineers Adda247
C) 10% loss D) 4% loss
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UF G W AR AT, FT {eT ¥ 20% A0 § AR 3¥ 20% F g W 9= Ar T 3
fashr &1 g IRomE AT FfSw|

A) 10% oTsT B) @IS Ty AT gIfey oTar
C) 10% gifa D) 4% grfeY
Answer Key : D Your Response : Not Answered

Question No. 24

Which word will best complete the relationship given below?

Needle : Sew :: Knife : ?
A) Cut B) Drive

C) Feed D) Grind

FleT AT e Y RE 7T Haer F wEr aqF F 7 Fm?

s : e e - oug : ?

A) @TeaT B) wel=AT
C) d@rer D) dreer
Answer Key : A Your Response : A (Correct)

Question No. 25

A boat goes upstream at 36 km/h and downstream at 40 km/h. The distance covered in each
trip being the same, find the speed of boat in still water.

A) 45 km/h B) 34 km/h

C) 38 km/h D) 2 km/h

SECAmARgE arT fr Ruda fGm F 36 Bl / wer IR arr Hr FENGidockehddE? 47
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IS AT H 0T A TG g A FA @ O, AT I H A9 F A AT fiferel

A) 45 f&reT / ger B) 34 faAY / ger
C) 38 frelT / ger D) 2 Y / ger
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the LCM of 2/3 and 6/7.
A) 6/21 B) 12/21
C) 2/21 D) 6

2/3 3R 6/7 # &. €. 9. (LCM) 7T HfSw]

A) 6/21 B) 12/21
C) 2/21 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 27

Which Greek letter denotes wavelength?

A) Epsilon (¢) B) Mu (p)
C) Omega (w) D) Lambda (A)
FleT A1 M IR T e Fr AT §?
A) TieHdre (e) B) ¥ ()
C) A (w) D) @FsT (A)
Answer Key : D Your Response : D (Correct)

Question No. 28

Who among the following took charge as the MD, CEO of Yes Bank in March 2019?

A) Ravneet Gill B) Amitabh Chaudhry
Cg Pallav Mohapatra D) Aditya Puri )
SSC Adda247 Engineers Adda247
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AT & & fFasr AT 2019 &/ I9 §% & A, W53 F FT 7 9gHR ygor R

A) @ a frer B) 3ifAarer diedy
C) Yooid HEHTE D) 3nfecT g
Answer Key : A Your Response : Not Answered

Question No. 29

State two factors on which the electrical energy consumed by an electric appliance depends.

A) The power rating of the appliance and the B) The energy and the time for which it is
time for which it is used used

C) The voltage and the current D) The power rating and the temperature

U faegd 3uaor # 47 g arel fAgga Fo freT & FRew W AR Feh 87

A) 3UHIOT & AfFd I 3R 5T 39AET & B) For 3R TP 3UANT & TAT W
THT W

C) dlecst 3R 4RT W D) «fed ¥Eer 3k ag

Answer Key : A Your Response : Not Answered

Question No. 30

P works twice as fast as Q. Q alone can complete some work in 12 days. Working together,
how long will P and Q take to complete the work?

A) 8 days B) 4 days

C) 6days D) 10 days

P, Q & aY 7t aolt & A T g1 Q 3rFem fFe F1F #1 12 Rt & g &< wFar g1 P 3R
Q F TF WY AdH 3 FE B QU FA A e A7 T@9m?

A) 8 f&et B) 4 f&a1
C) 6 feat D) 10 &=
Answer Key : B Your Response : B (Correct)

Question No. 31

SSC Adda247 Engineers Adda247
Which of the following non-metals is a good conductor of electricity?
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A) Bromine B) Hydrogen

C) Graphite D) Phosphorus

frfaf@d 7 & e A g Rega #r gaes &7

A) stEA B) grgalatel
C) JwIsT D) ®BRGRA
Answer Key : C Your Response : C (Correct)

Question No. 32

What is the area included between a circle and an inscribed square of side 'a' units?
A) a*(21 - 1) sq. units B) (a¥2)(1r - 2) sq. units

C) a*2 - 1) sq. units D) 2a?(1 - 2) sqg. units

T god IR 30F 3T AT o' ofom o 99 F S sl dave T Hifcw?

A) a?2m - 1) g SHS B) (a%/2)(1r - 2) JI SHIS
C) a%2 - m) T ZHE D) 2a3(m - 2) I 3
Answer Key : B Your Response : Not Answered

Question No. 33

Why does a mechanic apply grease between the moving parts of a bicycle or a motor?
A) To clean the parts B) To make the parts look shiny

C) As a lubricant to reduce friction D) To remove rust

A¥faw, asfra a1 Al F aaforle At & @i dw =t oonar g2
A) GSit T | e & forw B) Juil &l TH$CR &l & T
C) °YUT &l &FH I & [olU ToAgeh & 9 H D) 97 gl & fow

Answer Key : C Your Response : C (Correct)

Question No. 34

SC Adda24 Ineers Adda247
a%o & speed7s of two vehicles is 7 : 8. If the second vehicle covers 405 Pr% meS hours, w%at is
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the speed of the first vehicle?
A) 65 km/h B) 85 km/h

C) 70 km/h D) 75 km/h

ar argat dr =Ter F AT 7: 8 ¥l AR qERr aeer 5 ue ¥ 400 R fr oy aw war B, @
Ugd digel I Il AT HIfS]

A) 65 feral/ger B) 85 fral/eer
C) 70 frs/eer D) 75 fral/ger
Answer Key : C Your Response : C (Correct)

Question No. 35

Choose from the alternatives the figure that best completes the

pattern given below.

A) B)

0 D)

bl

SSC Adda247 Engineers Adda247
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few v AFedt & @ 37 amepla g, S A9 G v e #r 9@ et

gl

A)

XN
bl

Answer Key : D

0)

B)

PN

D)

Your Response : D (Correct)

Question No. 36

What is the expansion of NASA?

A) National Agency of Space Administration

C) National
Administration

Aeronautics and Space

NASA T quT §9 1 §?
A) AT TodT 3% T wsfAfaecys

(National Agency of Space

Administration)

C) il WidAlledd Us g UwsfAfaeges

(National Aeronautics and Space

Administration)

SSC Adda247

B) Navigational Aeronautics and Space

Administration

D) National Aeronautics and Space Agency

B) aAfaereraer TRIAITeFH
vsfAfaecereT

and Space Administration)

D) aeeTal WiAiced Us T Tadr (National

Aeronautics and Space Agency)

e

Aeronautics

U3

(Navigational

Engineers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

Answer Key : C

What does insulin regulate?
A) Reproduction

C) Blood glucose level

sgfae frey RRfafda #ar 872
N ECE)
C) T&d R & TR

Answer Key : C

Complete the series.

8888, 666, 44, (...)
A) 20

C) 0
Soft F g1

8888, 666, 44, (...
A) 20
C) 0

Answer Key : B

Your Response : Not Answered

Question No. 37

B) Heart beat

D) Physical growth

B) %eg a1fa
D) ik faerra

Your Response : C (Correct)

Question No. 38

B) 2

D) 22

B) 2
D) 22

Your Response : B (Correct)

Question No. 39

Find the missing number in the following series.

864, 432, 440, 220, (...), 114

89C&RAda247 B) 239 Engineers Adda247
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C) 232 D) 228

fArfaf@a Aol # epuitya dEar A fifsw

864, 432, 440, 220, (.), 114

A) 237 B) 239
C) 232 D) 228
Answer Key : D Your Response : D (Correct)

Question No. 40

The smell of the perfume reaches our nose quickly due to the process of-
A) Diffusion B) Condensation

C) Evaporation D) Fusion

forer afshar & ROT 3T HT I FAN A TF SFeq F g N 87

A) faazor B) Huelel
C) arsdehor D) Teldel
Answer Key : A Your Response : A (Correct)

Question No. 41
Find the value of cos 120° cos 240° cos 180° cos 60°.
A) -1/8 B) 1/2

C) 1/4 D) 1/16

cos 120° cos 240° cos 180° cos 60° &l AT AT HAT|

A) -1/8 B) 1/2

C) 1/4 D) 1/16

SSC Adda247 Engineers Adda247
Answer Key : A Your Response : A (Correct)
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Question No. 42

The Sabarmati River orginates from which Indian State?
A) Uttar Pradesh B) Gujarat

C) Bengal D) Rajasthan

G 78 ARG & Fg T & Pherar 872

A) IcaR 92T B) R
C) el D) TSEdUTe
Answer Key : D Your Response : Not Answered

Question No. 43

The sum of ages of 5 children born at intervals of four years is 80. What is the age of the eldest
child?

A) 16 B) 24

C) 18 D) 28

4 9§ & HA W 47 N ey 5 qeaAt Hr Y F AT 80 §| T I3 T H Y Fraer §?

A) 16 B) 24
C) 18 D) 28
Answer Key : B Your Response : Not Answered

Question No. 44

Plaster of Paris hardens by-

A) Giving of carbon dioxide B) Changing into CaCO3
C) Giving out water D) Combining with water
TAReY 3T AR FOR g 1 2l

A) FEeT IS FABS 3cloTd Poh B) CaCO3 & gRafdd g

SBCHAFEBHFE FIh D) 9=l & & fAeH Engineers Adda247
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Answer Key : D Your Response : D (Correct)

Question No. 45

In whose court was Chanakya a minister?
A) Chandragupta Maurya B) Ashoka

C) Bindusara D) Dasharatha Maurya

oy fFae eEr & & 42

A) dHeared A B) 3mele
C) fowgar D) &Ry A
Answer Key : A Your Response : Not Answered

Question No. 46

The unit of Joule per Coulomb is-

A) Ampere (A) B) Joule (J)
C) Volt (V) D) Coulomb (C)
SR FT $HE TN 7
A) TIFRIT (A) B) Sfet (J)
C) drec (V) D) %eH (C)
Answer Key : C Your Response : C (Correct)

Question No. 47

Who among the following discovered the presence of neutrons in the nucleus of an atom?
A) E. Rutherford B) J.J. Thomson

C) E. Goldstein D) J. Chadwick

famfaf@a & & fFaar Wy & s & =gl @ ufeafa fr @sr fr?
A) E. TIPS B) J.J. UHTT
SYCAdMa2 4% D) J. arsfas Engineers Adda247
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Answer Key : D Your Response : A (Wrong)

Question No. 48

Kiran Bedi is the present Lieutenant Governor of-

A) Karnataka B) Puducherry
C) Goa D) Kerala
fRoradr_ f gdH s
A) FaAleHh B) gl
C) dMar D) el
Answer Key : B Your Response : Not Answered

Question No. 49

Read the following information carefully and answer the question given below.

Eight captains of different football teams—Russia, Brazil, India, Argentina, Mexico, Peru, Spain
and Japan are sitting around a circular table and are facing the centre, but not necessarily in
the same order. Indian captain sits third to the left of the Mexico captain. Only two people sit
between the Russian captain and Spain captain. Neither the Russian captain nor Spain captain
is an immediate neighbour of the Indian captain. The captain of Japan sits second to the right of
the Peru captain. Peru captain is not an immediate neighbour of the Indian captain. The
Russian captain sits third to the left of the Indian captain. Captains of Argentina and Brazil are
not immediate neighbours. Argentina captain sits third to the left of the Peru captain.

Which of the following captains sits to the immediate right of the captain of Mexico?
A) Spain B) Russia

C) Argentina D) Peru

ffaf@a SR #F e & 96 3R i e a1 wee &1 3R &
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geaR A F °RE IR Fg A AR Hg WF 35 §, v 3o g F7 F o fAard 7 2
RT & Fode, AfFTR F FodeT F T8 3N TN T W &3 §1 & F FoaeT 3 T &
FdlT & T Fad o aeT I8 1 T F FoaeT 3N VT F FoaT & F 5 i ARG & FodeT
F1 Aeean TSR 78 §| I F FoA, W F FAT F IS IR G AT WIS E W F
Fedlel, AR & Foded & Ahean BT 78 &1 T F Fodel, AR F Fodid & a8 JW W
T W IS §1 368 3R o & Foae Recad 2R/t @ §1 368 & soae 9% &
Folel & a8 IR A T | 83 §l

ffaf@a F & Fia a1 Feae, AFTRT F FedeT F G IR THeH T9Td 7 dor §?

A) T B) &
C) 3tSicrr D) ¥%
Answer Key : D Your Response : Not Answered

Question No. 50

If in a certain language 'CASUAL' is coded as 'GEWYEP', how is 'PEOPLE' coded in that
language?

A) TISTPI B) SHRSOH

C) SIRTOL D) THSTOI

Ife R esmar & 'CASUAL' #t 'GEWYEP' fa@r Sirar 8, o 3 T 3 'PEOPLE' #t &3
forar sream?

A) TISTPI B) SHRSOH
C) SIRTOL D) THSTOI
Answer Key : A Your Response : A (Correct)

Question No. 51

What is the chemical symbol for nitrogen gas?
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C) Ny D) N*

A N F THR@AE TdiE R §?
A) Na B) Ni
C) N D) N*
Answer Key : C Your Response : C (Correct)

Question No. 52

Sam is facing east and moves 5 km forward. After reaching 5 km, he turns left side two times.
Which side is he facing now?

A) South B) East

C) North D) West

¥ g few v 3R 5 Bl Toar 81 5 Bl T F a1g, 9% & IR 91 AR A3 ¥ 39 @
forr feram r 307 #g R gam &2

A) efeyor B) @
C) 3R D) 4feas
Answer Key : D Your Response : D (Correct)

Question No. 53

'Cataract’ is a disease that affects the

A) Heart B) Eyes
C) Ears D) Legs
Afaaiee s AR 7, S &I werrfad e g
A) %I B) 3@
C) et D) &
Answer Key : B Your Response : B (Correct)
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A train P starts from Meerut at 4 p.m. and reaches Ghaziabad at 5 p.m., while another train Q
starts from Ghaziabad at 4 p.m. and reaches Meerut at 5:30 pm. At what time will the two trains
cross each other?

A) 4:42 p.m. B) 4:48 p.m.
C) 4:50 p.m. D) 4:36 p.m.
T (EATS P ATE W AH 4 O Tolell YE A § 3N WA 5 T MfSmEE ggEeh & S@ih

gud WS Q INOATEIE & A 4 Fof Telell YE P § AN AA 5.30 T ATG g gl it
YeEf3ar T gE @ R wHT 9R w6

A) ATH 4:42 §3 B) UTH 4:48 9
C) 2mH 4:50 §of D) emH 4:36 9
Answer Key : D Your Response : Not Answered

Question No. 55

MnO5 + 4HCI —-MnCl, +2H50 + Cl, is an example of-

A) Combustion reaction B) Combination reaction

C) Precipitation reaction D) Redox reaction

MnO, + 4HCI »MnCly +2H,0 + Cly &I T 3GTeXT gl

A) cgo fAfHar B) HIISteA HfATHAT

C) 37a&igur 3fRfhar D) uTdiaey (Ysred) ifafsear
Answer Key : D Your Response : D (Correct)

Question No. 56

Which creature grows again after it is cut into half?
A) Earthworm B) Cockroach

C) Lizard D) Frog

HleT |1 SN &Y ghsl & Fe I & 16 WY F 9 AT 82
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C) f&ghelr D) #AcHh

Answer Key : A Your Response : A (Correct)

Question No. 57

Blood is an example of ___ type of tissue.
A) Epithelial B) Nervous
C) Muscle D) Connective
WA ___ YHR F 3% H U 35T ¢l
A) 39l B) dfRdhT
C) #ArEqMT D) IS
Answer Key : D Your Response : Not Answered

Question No. 58
Simplify: 1/4 + 3/8 - 1/2 + 3/4 - 1/3
A) -13/24 B) 17/24

C) 5/24 D) 13/24

el hfAT: 1/4 + 3/18 - 1/2 + 3/4 - 1/3

A) -13/24 B) 17/24
C) 5/24 D) 13/24
Answer Key : D Your Response : A (Wrong)

Question No. 59

The common name of sodium hydrogen carbonate is-
A) Common salt B) Epsom salt

C) Milk of magnesia D) Baking soda

HIf39A 2o Fefe FT AHGT 1 FT 8§72
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C) e 3 Heahfrar D) aféhar Hisr

Answer Key : D Your Response : D (Correct)

Question No. 60

Find the total surface area of a hollow hemispherical bowl of diameter 14 cm and negligible

thickness.
A) 576 cm?2 B) 628 cm?22
C) 616 cm?22 D) 526 cm?22

14 9 = AR PO ARE G TF TG IHWNEHR FER HF Fol JOF &bl A
LAY

A) 576 T T B) 628 adT T
C) 616 @ =Y D) 526 adf TT
Answer Key : C Your Response : Not Answered

Question No. 61

On which dates will Sundays come in February 2020?
A) 3,10, 17, 24 of February B) 8, 15, 22, 29 of February

C) 2,9, 16, 23 of February D) 5,12, 19, 26 of February

wEd 2020 # T fafdat @t WEEr gem?

A) walr 3, 10, 17, 24 B) ®ayr 8, 15, 22, 29
C) W&l 2, 9, 16, 23 D) wa&dr 5, 12, 19, 26
Answer Key : C Your Response : Not Answered

Question No. 62

Complete the series.
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148, 150, 156, 168, (...)

A) 174 B) 182
C) 176 D) 188
Aofr & qot Y

148, 150, 156, 168, (..)

A) 174 B) 182
C) 176 D) 188
Answer Key : D Your Response : Not Answered

Question No. 63

Which vitamin is used for the treatment of common cold?
A) Vitamin'A’ B) Vitamin'C'

C) Vitamin 'D’ D) Vitamin 'B'

AT ShH & ellel & v & [af@e 1 suer Har siar g2

A) @ A B) e 'C'
C) faeifa=r 'D' D) facif@sr 'B'
Answer Key : B Your Response : Not Answered

Question No. 64

India Post Payments Bank (IPPB) has tied up with which Insurance company to provide
insurance to all?

A) Bajaj Allianz Life Insurance B) Birla Sun Life Insurance

C) New India Assurance D) ICICI Prudential Life Insurance
SSC-Adda247 EngineersAdda247
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$f3ar dree 9w d«F (IPPB) & @3t Y AT Yo et & fov fF9 AT Fusl & A Toays
forar 872

A) Faorer fere ds® SART B) foRell @ 8% 3T
C) =g sfsar wearky D) ICICI JSRIFel +st $eaRH
Answer Key : A Your Response : Not Answered

Question No. 65

Which of these is India's first indigenously built submarine?
A) Vikram B) Vijay

C) Shalki D) Vikrant

S ¥ FleT AR Hr ggelr T fAffa wergesdr 32

A) fas#a B) fasig
C) el D) faseid
Answer Key : C Your Response : Not Answered

Question No. 66

An aeroplane is moving at a constant altitude 'h'. At 10:00 AM, it is seen at an elevation of 30°.
1 minute later, it is observed at an elevation of 60°. If the speed of the plane is 960 km/h, then
find 'h".

A) 13.86 km B) 15 km

C) 12.46 km D) 20 km

T gd1$ Sielsl R 5ar€ 'h' W 38 W@T &1 Oid: 10:00 §=, Ig 30° & Ioidel HIUT W RS
&t g1 1 fAde a1g, I8 60° & 3e=igel VT W @S ar §1 I BT $ir arer 960 Frefr / wer
g, a 'h' F 7T AG Sl

A) 13.86 faT B) 15 foreT
C) 12.46 fhreAY D) 20 foraT
Answer Key : A Your Response : Not Answered
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Butanone is a four-carbon compound with the functional group-

A) Carboxylic acid B) Ketone
C) Aldehyde D) Alcohol
gt FRITHS THE I Teh IR-FHIEe arel A g
A) FEfiFaies 3 B) frcrT
C) Uicsgiss D) Tedigd
Answer Key : B Your Response : B (Correct)

Question No. 68

What is the gain per cent, while selling 33 m of cloth, if there is a gain equal to the selling price
of 11 m?

A) 60% B) 50%

C) 25% D) 45%

33 #eY FU3 FHr foh W g A F 9feRE A1 AT, ARG 50 R #F gam A 11 HAel w9
& faFT {eT & SUR e B

A) 60% B) 50%
C) 25% D) 45%
Answer Key : B Your Response : Not Answered

Question No. 69

Read the following information carefully and answer the question given below.

Aravind, Bala, Chithra, Deepa, Hari, Maha, Madhu and Abi are sitting around a circle facing the
center. Bala is third to the right of Maha and third to the left of Abi. Chithra is fourth to the left of
Aravind. Aravind is not an immediate neighbour of Maha and Bala. Hari is not an immediate
neighbour of Bala. Madhu is second to the right of Deepa.

Who is to the immediate left of Bala?

D B) Mah .
§%c Adbaza7 ) Maha Engineers Adda247
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C) Madhu D) Chithra

farfaf@a Seert #F eare @ 9¢ 3R M Qe 3w 7w & 3w )

3RfdE, arem, fmr, §ar, R, #e, 7Y 3R I wF goa F ARY IR Fw A AN g W_E W
arel, #Agl & gU F R 3R 3 & 90 @ I ' W g1 7, 3R & a' @ 9 s e
W ¢ 3R, AT AR Jren F Fhead TR 76 T &R, Jon F Fhean BRI AE &1 7Y
&T F g8 3N g T W

el & 918 3R TheH 91 7 HieT ST 87

A) Erar B) e
C) &Yy D) faar
Answer Key : A Your Response : Not Answered

Question No. 70

How many times a half moon is visible in a month?
A) Four times B) one time

C) Two times D) Three times

TF Aglel 7 el SR 3mem 9 R@rs &ar 82

A) IR IR B) T& aR
C) ar xR D) d= SR
Answer Key : C Your Response : A (Wrong)

Question No. 71

Find the group of wrong alphabets in the following series.

LX, IL, SB, OD, NA
A) LX B) SB

C) IL D) NA
SSC Adda247 Engineers Adda247
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fAmfaf@a Aoft 7 s/d e-aag AT ffSw

LX, IL, SB, OD, NA

A) LX B) SB
C) IL D) NA
Answer Key : B Your Response : Not Answered

Question No. 72

'Onam' is one of the most important festivals of-

A) Gujarat B) Karnataka
C) Kerala D) Maharashtra
HOR & wad Agcat Rt F ¥ w3
A) TR B) @silceh
C) o D) #HgRTSE
Answer Key : C Your Response : C (Correct)

Question No. 73

What causes hydrophobia?
A) Rabies virus B) Bacteria
C) Acute virus D) Varroa virus
EEARIRAT fFEF FROT AT §7?
A) (SIS 1 fasmoy B) Siaroy
C) o fasmoy D) a3 & fawry
Answer Key : A Your Response : Not Answered

Question No. 74

g‘ge ﬁi&w{l&lﬁtfrest on a sum of money for 2 years is Rs.50 and the C°E}?§H'1‘8 é?geygato%&tﬁ?

same sum at the same rate for the same time is Rs.51.25. Find the rate of interest per annum.
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A) 6.5% B) 5%

C) 6% D) 5.5%

el e W 2 af & AR sue €50 § 3R 3 I w3 &1 3k 39 smafe &
Thgfe AT ©.51.25 §1 sArer &Y aif¥sr &X AT ATl

A) 6.5% B) 5%
C) 6% D) 5.5%
Answer Key : B Your Response : Not Answered

Question No. 75

What is acupuncture?

A) Ancient Chinese system of medicine B) Method of curing cancer

C) Ancient Greek system of medicine D) Modern method of digging deep wells

RO T g7

A) Fafecar $r ariie A= gomelr B) $EX & Sollol &l il

C) Rfehcar i grieT FA=T JuTrelr D)Wﬁ@aﬁﬁa@%ﬁfﬁ
Answer Key : A Your Response : Not Answered

Question No. 76

In the given figure, the circle represents boys, triangle represents
students. and rectangle represents teenagers. What does M represent?

/J/N M
o |k

A Students who are both boys B)

and teenagers
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https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

Students who are not boys

®) D) Students who are boys but

Students who are not teenagers

teenagersonly

ﬁﬁTﬁ,ﬁﬂgﬁﬁﬁﬁﬂmﬁ.ﬁﬁmmﬁﬁﬁﬁﬁ
?m% T Farsit H FEla war g1 M Fewr Twfa #ar

)/ NIM
| O|K
A) B)
3 BTl & A T8 R 3 Al &I, AT TA5H el
gar gt 2 el

0 D)
: : 3 OIEr FT AT T=F 8,
Answer Key : D Your Response : D (Correct)

Question No. 77

Cutaneous respiration takes place in -
A) Earthworm B) Fish

C) Man D) Birds

SO data4 7 giar gl Engineers Adda247
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A) S3M A B) moferal &
C) sdmr #H D) ufarat #
Answer Key : A Your Response : Not Answered
Question No. 78
Which of the following is NOT the effect of modern agriculture?
A) Eutrophication B) Biomagnification

C) Ozone depletion D) Nitrate pollution

fArfaf@d & @ Sl a1 3myAs FW Fr womT 60 87

A) guruT(Eutrophication) B) Sig 3may«(Biomagnification)
C) 3ol 31a&7a(Ozone depletion) D) as¢e 9ewur(Nitrate pollution)
Answer Key : C Your Response : Not Answered

Question No. 79

Which number will best complete the relationship given below?

4:128::6:7?
A) 192 B) 195
C) 194 D) 193

FleT W & A RBu v F&e i wefeaw dor § qub FEhe

4:128 26 :7?
A) 192 B) 195
C) 194 D) 193

SSAsddaRrédy’: A Your Response : A (Cocrigiheers Adda247
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Question No. 80

In a party, one-fifth of the guests wanted cool drinks only. Out of the remaining, half of them
liked coffee and two-thirds like tea. If 12 of the guests opted for both coffee and tea, how many
guests had attended the party?

A) 72 B) 88
C) 90 D) 100
TH Ul H, 1/5 AgAT had MqNad 9T o aed Al AT F F, 3 AAGT of T AT GG

frar 3R & fEé & I AT g R ARy 12 AgEEt ¥ Fr 3R T At w1 Reew o
&, ar ot & For e AgAeT anfder gT 47

A) 72 B) 88
C) 90 D) 100
Answer Key : C Your Response : Not Answered

Question No. 81

Two students appeared for an examination. One of them got 9 marks more than the other. His
marks was also equal to 56% of the sum of their marks. What are their marks?

A) 39,30 B) 42,33

C) 43,34 D) 45, 54

ar et A T e # AT fAr 3 & v A g ¥ 9 I3 HfeE A Wy & 36% 3,
3eTeh 3l & AFT & 56% F TR | 3¢ 3iF AT AT

A) 39, 30 B) 42, 33
C) 43, 34 D) 45, 54
Answer Key : B Your Response : Not Answered

Question No. 82

Which of the following is the first alkali metal?

A) Lithium B) Hydrogen
Cg Francium D) Sodium ]
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Tgel 61R u1g el & d @i @ &2

A) Tefdgs B) &3
C) et D) afsaH
Answer Key : A Your Response : Not Answered

Question No. 83

. . 1 1 1 1 1
Smphfy: 1+ -+ -4 -4 - 4+~
phity 3 6 8 12 24

A) B)
1.5 1.75
C) D)
1.25 g
I FI: 1+l+l+l+i+L
3 6 8 12 24
A) B)
1.5 1.75
0 D)
SSC Adda247
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Answer Key : B Your Response : B (Correct)

Question No. 84

Complete the series.

755, 151, 75.5, 15.1, (...)

A) 6.12 B) 7.55
C) 843 D) 9.67
fofr @ Qo HY|

755, 151, 75.5, 15.1, (.)

A) 6.12 B) 7.55
C) 8.43 D) 9.67
Answer Key : B Your Response : B (Correct)

Question No. 85

In this question, a statement is given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:

Vegetable %‘11 7s are soaring in the market.
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Conclusions:
l. Vegetables are becoming a rare commodity.
Il. People cannot eat vegetables.

A) Both conclusions | and Il follow B) Only conclusion Il follows

C) Only conclusion | follows D) Neither conclusion | nor Il follows

S0 WA H, U FUA & a1 ar s e aw §1 39 fAswd @ (37 st #) gt s arfeen
¥ § FO¥ 39gFd T

Y
IR & wfeot & T 9 W@ E

sy
|. |fssrar v gelsr qerd gl o W@ ¢
Il. ser wfesar a8 @r Tl

A) fashy | 3R 11 @et sugeRd & B) @hael sy || 3uged Bl
C) Fad fasewy | 3ugea g D) & o sy | 3R & & Il 3ugerd &l

Answer Key : D Your Response : Not Answered

Question No. 86

If a, b, c and d are 4 whole numbers such that a + b + ¢ = d where a, b, d are all odd numbers,
then find c.

A) Also odd B) O

C) Can either be odd or even D) Even

af& a, b, ¢ AN d, 4 qoF & § arfF a + b + ¢ = d & a, b, d W RAww FEaAW §, @ ¢
AT

A) faws B) 0
C) Ir ar fawsd g Fhar § a1 @A & Thal &1 D) TH

Answer Key : A Your Response : Not Answered
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Which of these can be a cause for soil erosion?
A) Ploughing of steeply sloping land B) All of the options

C) Cutting down trees D) Over-grazing of pastures

ST & T AT F&T HWGT FT FROT & Fhel 57

A) TSI EeleT drell 3 T TS B) fasredl & & el
C) ust &I e D) TREMEH & ATt TS
Answer Key : B Your Response : B (Correct)

Question No. 88

Choose the alternative that best replaces the question mark(?) in the

given figure.
8 4 6 7 7 2
27 38 ?
5 4 2
A) 19 B)
24
O D) 15
19
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30 ReeT & 09 *, A HHpd & T Bed (7) & WF W@
I & T wEfcam 39gea &l

27 38 ?
5 4 2
A) 19 B)
24
C D
) ) 15
19
Answer Key : A Your Response : A (Correct)

Question No. 89

What will come in the place of "™*'?

18/* = 2/7
A) 126 B) 63
C) 84 D) 14

'« & AT W i & &7 3Mweh?

18/x = 217
A) 126 B) 63
C) 84 D) 14
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Question No. 90

Who among the following inaugurated the Diffo Bridge in 2019?
A) Sushma Swaraj B) Rajnath Singh

C) Nirmala Sitharaman D) Narendra Modi

famfaf@a 7 @ frasr 2019 37 B e & 3cEes fFar?

A) FYAT TS B) Iy g
C) e drarsor D) #eg AT
Answer Key : C Your Response : Not Answered

Question No. 91

f4@9#3=1and4@8#4=2,then5@6#2="7
A) 9 B) 5

C) 2 D) 6

M 4@9#3=13N4@8#4=2¢N5@6#2="7

A) 9 B) 5
C) 2 D) 6
Answer Key : C Your Response : Not Answered

Question No. 92

Four vessels of equal size are filled with mixtures of milk and water. The strength of milk in the
four vessels is 80%, 75%, 60% and 50% respectively. If all four mixtures are mixed, what is the
ratio of water to milk in the resultant mixture?

A) 27:53 B) 13:27
C) 29:51 D) 3:5

AR 3HR & TR IoloT g 3 arelr & BHor § R &1 9RE Sl 37 gy v AT A 80%,
75%, 60% 3 50% &I IfE @elr IR ot #r Aer Rar sme, @ urea Ryor #F v 3k gy

I 39T FAT_F1em?
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A) 27 : 53 B) 13 : 27
C) 29 : 51 D) 3:5

Answer Key : A Your Response : Not Answered

Question No. 93

Find the ODD one out from the given options.

A) F B) R
C) L D) Q
R 7w Rost 3 F 3w B G|
A) F B) R
C) L D) Q
Answer Key : D Your Response : A (Wrong)

Question No. 94

Rs.12000 invested at 10% Simple Interest and another investment at 20% Simple Interest
together give a 14% income on the total investment in one year. Find the total investment.

A) Rs.8000 B) Rs.18000

C) Rs.24000 D) Rs.20000

¥.12000 #r T AR F 10% FHURYT AT W AT Far /r 3R o 3= TR = 20%
WIEURCT ST W e fFar a3, v a¥ F $o 9w W 14% 39§81 $o e A Afw)

A) %.8000 B) ¥.18000
C) %.24000 D) %.20000
Answer Key : D Your Response : Not Answered

Question No. 95

In how many years will Rs.5000 grow to Rs.10000 at 12.5% Simple Interest?

A) 8 years B) 12 years
83CAhdea4 7 D) 9 years Engineers Adda247
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$.5000 Fr AR 12.5% TTUROT AT W fhcder auf #F Tt $.10000 g SRAM?

A) 8 a¥ B) 12 a¥
C) 20 aw D) 9 a¥
Answer Key : A Your Response : A (Correct)

Question No. 96

Rakesh is standing at a point. He walks 20 m towards east and further 10 m towards south. He
then walks 35 m towards west and further 5 m towards north. Again he walks 15 m towards
east. What is the shortest distance in meters between his starting point and the point where he
is now?

A) 5m B) Cannot be determined

C) 10m D) 1m

Tl T g T @ST 81 & @ Hr AR 20 #Hrex 3R Y gfdior v 3k 10 Hey goar &1
g8 IR"A Fr AKX 35 X 3R 38F 9 3} f AN 5 M Iar g1 T a8 @ A I} 15
HeT TIdr ¢ 38% IR g 3R sqhr Alsper Bufa & i A ~gerad g Mex & frae 872

A) 5 Hiex B) uiRa =Agr fham 1 Fhem
C) 10 ;X D) 1 #Hiex
Answer Key : A Your Response : Not Answered

Question No. 97

If the time period of a sound wave is 0.02 s, then what is its frequency?
A) 50 Hz B) 100 Hz

C) 25Hz D) 500 Hz

Ife el eafer aier &1 3rmacirer 0.02 @S 8, aF 38T gfed Fr 82

A) 50 g B) 100 g&<f
C) 25 gl D) 500 g&at
Answer Key : A Your Response : A (Correct)
SSC Adda247 Engineers Adda247
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Which of the following countries was the host of Men's Hockey World Cup 2018?
A) Malaysia B) India

C) Germany D) Pakistan

fAerfaf@a & @ e a1 3er gov iR favg T 2018 Fr AsErT & Ur?

A) Helf=m B) #Rd
C) ST#H=r D) urferEdre
Answer Key : B Your Response : B (Correct)

Question No. 99

If vy = 3+242. then find the value of +/y-

A) B)

\H§+1 1

0 D)

R y=3+22 & Ay F AT AT

A) B)
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\Hﬁ+1 1

O] D)

Answer Key : A Your Response : Not Answered

Question No. 100

Find the LCM of 1.05 and 2.1.
A) 2.1 B) 0.6

C) 4 D) 1.25

1.05 3R 2.1 Fr &.9.9. (LCM) ATq Hfa]

A) 2.1 B) 0.6
C) 4 D) 1.25
Answer Key : A Your Response : Not Answered
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